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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all five questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindji;
but the same medium should be used throughout the
paper.

e & fow fem

1 3@ YE-UF & e 8§ W Ry v FHuiRe w=e @S
Al felay |

2. @Y drer ¥l & IR SR |

3 @ty & 3k ENT 2 |

4. TE TET- 99 1 IR SN a1 B fRh van v A A, s
@t IR 1 ALAA T B BT AT |

P.T.O.



977 2

1. What is risk mapping? What are the important
characteristics of risk maps? Explain with the help of

an example. (15)

OR
Distinguish between —
(a) Pure risk and speculative risk
(b) Risk retention and risk transfer

(c) Static and dynamic risk (15
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2. (a) Define reinsurance. What are the objectives of

reinsurance? (10)
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(b) Explain the concept of nomination in insurance.

(5)
OR

what do you understand by coinsurance? What arc
different methods used for coinsurance? Differentiate

between coinsurance and reinsurance. (15)
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3. Explain the following —
(a) Principle of proximate cause
(b) Principle of utmost good faith
(c) Principle of subrogation

OR
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How insurance sector of India is globalizing? What

efits of olobalizing insurance sector of

(15)
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Describe the composition of IRDA. Briefly explain
the powers, functions and duties of IRDA. (15)

OR

Write short notes on any three of the following :
(5%x3=15)
(a) Control of malpractices in India

(b) Automobile insurance in India

(¢) Assignment

(d) Principle of contribution
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